y = gx—6°ﬂ/\1 y=0<¢ o, x = 40|22 A(4,0)°] 1,

x=0¢ o, y = -6°] 22 B(0,-6) °|tt.




ARGy = 2x +a—4 2 x ZHO] -3

y=20ta-4°0 (-3,0) & A
0=2%x(-3)+a-4
—-6+a-4=0,a=10
y=2x+60]B2 ydHL g




1 1
@y—§X—§

@ y=x-3

® y=3x+3

O)y=-x+2

1
x+2

2

@ y=

o] 2, yAHo] 2

=




©
=

A (2,3), (4,-3), (~La) 7H 2 A4 919] Ho] HES o 9 3

4.

@ 11 3®)12 @ 15 ® 17

® 9

o

a+3=15

Ta=15-3=12




J
iy
N
el
)
7
— o
4R
o ol
N
I 4
) 7AO
=
m
mo o
H %
N

5

@ 2 ® 3 @)4 ®

D1




6.

A (3t K)7H QARG y = 20+ 78] TR 949 HY ), k2 - 2% €]
e

® -3 @ -2 @—1 @ 2 ® 3

S5 \
A (3k, k)7 At y = —2x + 79 & 919 HolBER
x=3k y=kE i dsHA,

k=-2x3k+7°] APstER

Th="17

k =10t}

Lk -2%=12-2x1=-1




2-gol7ty = —2x—b 9] AT E Ky 85 A
E A dEo) A7 UL y = —2x-b 9]

Jefmet xZo] Phis o] ABE (4 0)0]2t
), a+bol FE Faholat,

"

vV V¥
0
o
|
I\

B ~
o] ydHo| 40]BR —p =4, b= -40°|T}.

w3k 070 G40} rFo] P e HT Ho] o T
y=-2x+49 xdHE 20|82 4 =20]|r},

" a+b=2+(-4)=-2




© (=2, 3), 3, 8)
® (0, 4), (3. 7)

Q@ (1, 4), (2, 6)

© (-3, -5), (-1, —15)




A2t y = —3x 4+ 6 9] 1 Z7}F ok 19} yA
@o o, 44 k0 S Fetoiet

4o A= (k, 3)S AER
x=k y=232 didsiA
3:—3k+6’k: 10]‘:}




10. L4y = 4x+ 3 9] T Zo)A x Zhol a ol a + 2 744 71
o, y 4te] 727

® 4 @5 ® 6 @7 @)

o olm _ g TE) Kk
7187|171 4 0|2 4 = ERCE R =3
uh2hA k = 8 o]t}




